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REASONING
I. In a certain code BELOW is written as FCKVN. How is GIVEN written in that code?

(1) JHWMD (2) HIUMD
(3) JHMUD (4) JHTIMD
(5) None of these

2. How many such pairs of letters are there in the world SPLENIC each of which has as many
letters between them in the word as there are between them in the English alphabet?

(1) Four (2) Two

(3) Three

(4) One

(5) None of these

3. If’x’ neans ‘+°, “+~‘means ‘+°, ‘+° means ‘—*‘ and — means ‘x’, then
2 50+40x 10 +96=?

(1) 104 (2) 98 (3) 182 (4) 192 (5) None of these

4. How many such pairs of digits are there in the number 82615943 each of which has as many
digits between them in the number as when the digits are rearrangement in ascending order
within the number?

(1) Three (2) One
(3) Four (4) Two
(5) None of these

5. Four of the following five are alike in a certain way and so form a group. Which is the one that
does not belong to the group?

(1) 84 (2) 76 (3) 56 (4) 24 (5) 94

6. Four of the following five are alike in a certain way based on their positions in the English
alphabet and so form a group. Which is the one that does not belong to the group ?

(1) FL (2) NR (3) TX (4) BG (5) DH
Directions (7-11) : Study carefuHy the following arrangement of letters, digits and symbols and

answer the questions given below
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7. If all the digits are removed from the arrangement, then which of the following will be the 6th
to the left of the 14th element from the left end?

0*@2DbB)CHV
(5) None of these

8. If all the letters are removed from the arrangement, then which of the following will be the 8th
to the right of the 13th element from the right end?

MH42)=B3)sW@
(5) None of these

9. How many such symbols are there in the arrangement, each of which is immediately followed
by a letter but not immediately preceded by a digit?

(1) Nil (2) One
(3) Two (4) Three
(5) None of these

10. ‘M=2": *V9*’ in the arrangement in the same way as ‘@N4’:?

(H$?272)TW7
(3) TWS (4) THW
(5) None of these

11. Four of the following five are alike in a certain way based on the position of their elements in
the arrangement and so form a group. Which is the one that does not belong to the group?

(1) LM
(2) 9F4*
(3) VDC3
4) 3@
(5) TWKS

Directions (12-16) Study carefully the following information and answer the questions given
below:

(1) Seven members A, B, C, D, E, F and G are sitting in a circle and are facing the centre.

(11) G 1is third to the left ofA

(ii1) F is third to the left of B

(iv) D is not the neighbour of G

(v) C is the neighbour of A

(vi) B is to the immediate left of A

12. What si the position of E?



(1) To the immediate right of B
(2) Between G and F

(3) Third to the right of C

(4) To the immediate right of G
(5) None of these

13. Which of the following is TRUE?

(1) D is to the immediate left of C
(2) F is to the immediate right of G
(3) A is between B and C

(4) Cis between D and F

(5) None of these

14. Which of the following is NOT TRUE?

(1) A is 4th to the right off

(2) B is to the immediate left of E
(3) Cis 3rd to the left of G

(4) D is 4th to the right of E

(5) None of these

15. Which of the following pairs has its first member sitting to the immediate right of the second
member?

(1)EB
(2) AC
(3) DC
(4) GE
(5) None of these

16. Which of the following pairs has it 2nd member sitting to the immediate right of the first
member?

(1) FD
(2) GF
(3) AB
(4) FC
(5) None of these

17. In a certain code FROM is written as #$52 and BASE is written as %7?@. How is SOME
written in that code?

(1) 52@
(2) 25@2
(3) 252%



(4) 752@
(5) None of these

18. In a row of40 children facing North, Satish is eighth to the right ofAjay. IfAjay is 18th from
the right end of the row, how far is Satish from the left endof the row?

(1) 32nd (2) 10th (3) 31st (4) 29th (5) None of these
19. M is father of N, L is brother of M, P is mother of L. How is N related toP?

(1) Grandson

(2) Nephew

(3) Granddaughter

(4) Cannot be determined
(5) None of these

Directions (20-24) : In each of the questions given below, a group of digits is given followed by
four combinations of letters/symbols numbered (1), (2), (3) and (4). You have to find out which of
the four combinations correctly represents the group of digits based on the letter! symbol codes
and the conditions given below. If none of the four combinations represents the group of digits
correctly, give (5) i.e., ‘None of these’ as the answer.

Digit 3962 87541
Letter symbolm=$ @pADV *

Conditions for coding the group of digits:

(1) If the first digit is odd and last digit is even, the codes for the first and the last digits are to be
interchanged

(i1) If the first as well as the last digit is even, both are to be coded by the code for last digit.
(111) If the first as well as the last digit is odd, both are to be coded as ‘X’.

20. 285961

(1) @PDS* (2) @ADS*(3) @PVS* (4) @PDSV (5) None of these
21. 972486

(1) =A@VPS (2) SA@VP=

(3) SD@VP=" (4) SA@4=

(5) None of these

22. 834762

(I) PMVASP (2)PMVAS@,

(3) @MVASP (4) @MVAS@
(5) None of these



23.785291

(1) APD@*X (2) APD@=X
(3) XPD@=X (4) XPD@=*
(5) None of these

24.748956

(1) AVP=DS (2) SVP=DS
(3) AVP=DA (4) S*P=DA (5) None of these

25. 1A’ is denoted by 2’ ‘B’by ‘4’, ‘C’ by ‘6’ and so on, then what will be the sum of the *
numeric values of the letters of the word ‘OWL’?

(1) 110 (2) 90
(3) 100 (4) 102
(5) None of these

26. Which of the fallowing indicates similar relationship as ‘LOVE’ has with “VOEL’?

(1) DIVE: IVED (2) SAKE: KASE
(3) LIME : ELMI (4) TUNE : UNET
(5) None of these

27. After arranging the letters of the word ‘DIAL’ in alphabetical order, each letter is substituted
by the next second letter in the English alphabet. What will be the resultant form of the word ?

(1) NKFC (2) CFKN
(3) CGKN (4) CFKO
(5) None of these

28. In a certain code ‘PURE’ is written as ‘QVQD’ and ‘COPE’ is written as ‘DPOD’ How is
‘WHEN’ written in that code?

(1) XIFO (2) VGDM

(3) XIDM (4) VGFO
(5) None of these

Directions (29-32) : These questions are based on the following numbers
385472 961 528 284

29. If the first and the second digits of each number are interchanged and the new set of numbers
thus obtained is arranged in descending order, which number will be sedond ?

(1) 284 (2) 385 (3) 472 (4) 461 (5) 528



30. If” 1’ is subtracted from the first digit and ‘1’ is added to the middle digit of each number,
which number will be the lowest?

(1) 385 (2) 472 (3) 284 (4) 528 (5) 961

31. if the first and the thing digits of each number are interchanged and the set of numbers thus
obtained is arranged in the asecnding order, which number will be second?

1.3852.284 3.5284.472 5. None of these.

32. if for each number, the 1st digit becomes the 2nd digit, the 2nd digit becomes the 3rd digit
and the 3rd digit becomes the 1st digit, then which number in the new set of numbers will be the
lowest.

1.4722.961 3. 528 4. 284 5. 385

Directions :(33-36) : Each of the following question below consists of a question and two
statements numbered I and II given below it , you have to decide whether the data provided in
statements are sufficient to answer the question. Read both the statements and

Given answer(1) if the data in statement I alone are sufficient to answet the questions, the data
in statement II alone are not sufficient to answer the question.

Give answer (2).if the data in Statement II alone are sufficient to answer the question, while the
data in statement I alone are not sufficient to question.

Given answer (3) if the data in Statement I alome or in statement II alone are sufficient to
answer the question.

Give answer (4) if the data in both statements I and II together are not sufficient to answer the
question,.

Give answer (5) if the data in both the statements I and II together are necessary to answer the
question.

33. what is the code for 'clever'
L. 'very clever boy' is coded as 'le pa na'
II. 'boys are very quick' is coded as 'se pe ne le'

34. What 1s Hemant’s rank in the class of 40 students ?

I. Sudha is 5 ranks below Hemant in the class
II. Suresh, who is 10 ranks ahead of Sudha, is 25th from the bottom in the class

35. Who is the oldest among A,B, C, D & E?

I. A and B are older than E and D.
II. B, who is older than A, D and E, is not the oldest

36. ‘M’ is in which direction with respect to ‘N’?



I. ‘M’ is the West of’P’ and to the North of ‘0’, ‘N’ is to the West of’P’ and to the East-North

of’O’

II. ‘P’ who is to the East-North of ‘0’ is to the East of M and N

Directions (37-40) : In each question below are given three Statements followed by three
Conclusions numbered I, Il and III. You have to take the given Statements to be true even if they
seem to be at variance from commonly known facts. Read all the conclusions and then decide
which of the given Conclusions logically follows from the given Statements disregarding

commonly known facts.

37. Statements:

Some cycles are busses.
All cars are buses.

Some buses are trains.
Conclusions:

I. All cares are cycles.

II. Some trains are buses.
III. Some trains are cars.

(1) None follows

(2) Only I and II follow
(3) Only land I1I follow
(4) Only II and Il follow
(5) None of these

38. Statements:

All pencils are sticks.
Some sticks are notes.

All diaries are notes.
Conclusions:

I. Some notes are diaries.
II. Some sticks are pencils.

II1. Some diaries are sticks.

(1) Allfollow

(2) Only Ifollows

(3) Only I and II follow
(4) Only II follows

(5) None of these

39. Statements:

Some buds are leaves.
No leaf is fruit.

Some fruits are buds.
Conclusions:

I. Some fruits are leaves.

46.
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II. All buds are fruits.
II1. Some leaves are buds.

(1) Only I or II follows
(2) Only 11l follows

(3) Onlyllfollows

(4) None follows

(5) None of these

40. Statements:

Some birds are animals.
All animals are rivers.
Some rivers are lions.
Conclusions:

I. Some lions are animals
II. Some rivers are birds
III. No animal is lion

(1) Only 11 follows

(2) Only either I or 11l follows
(3) Only II and 111 follows

(4) 1T and either I or III follow
(5) None of these

Directions (41-50) : In each of the questions given below which one of the five answer figures on
the bottom should come after the problem figures on the top, if the sequence were continued ?

Directions (51-75): What should come in place of the question mark (?) in the following
questions ?

51.7.8+5.4X8.2=?

(1) 52.08 (2)108.24 (3) 48.05 (4) 102.05 (5) None of these
52. 8% of 800X ?7=224

1.4.5(2)3.5(3)4 (4) 3 (5) None of these

53. 94736 + 43693 +25638 =?



1. 160546 2.164076 3. 165046 4. 160467 5. None of these.
54. cube root of 185193=?
1.512.593.574.53 5. None of these .

55. 7%o0ft 1400- 18%of 750=159
1.272.293.174.21 5 None of these .

56. squre root of 7921 X squre of 7=6942

1. 6241 2.5929 3. 6084 4. 5776 5.None of these
57.—948+ 147—7=——1432

(1) 683 (2) 631

(3) 647 (4) 676

(5) None of these

58. 856x567=?

(1) 487064 (2)484218 (3) 482784 (4) 485352
(5) None of these

59. 87693—?—4725—169=20410
(1) 62475 (2) 62379

(3) 62480 (4) 62489

(5) None of these

60. (7)2 x (5)2 + 225 =3000

(1)6(2)83)54#)9
(5) None of these

61. 7/439+7+354=865
(1) 32056 (2) 32047
(3) 33056 (4) 31025
(5) None of these

62 .5.5x6.4/0.4=?



(1)77(2)74 (3) 88 (4) 84
(5) None of these

63. (7—968) + 79x4=512
(1) 11080 (2) 10190

(3) 11075 (4) 10185

(5) None of these

64.4/7 X 2/3 X 7=1008
(1) 2688 (2) 2604

(3) 2667 (4) 2646

(5) None of these

65. (764x?)+250=382

(1) 115(2) 145 (3) 135 (4) 125
(5) None of these

66. 3.7x0.04+5.9?

(1) 6.48 (2) 6.032

(3)21.978 (3)21.98

(5) None of these

67.1/4X(4856 X 0.5) X 12 =?
(1)7284(2)7462(3)7262(4)7414(5)None of these
68.853+? +17 =1000

(1) 2516 (2) 2482 (3) 2499 (4)16147 (5) None of these
69. 9643—7750+7=4990

(1) 3079 (2) 3097

(3) 3090 (4) 4010

(5) None of these

70. 13.15x7.4+76.12=?

(1) 164.53 (2) 94.58

(3)96.67 (4) 173.43

(5) None of these

71. 6156+ Jx53=4028



(1) 6889 (2) 6241
(3) 5929 (4) 6561
(5) None of these

72. 18 (2/3)+7(1/2)=?

(1) 26(1/3) (2)19(1/2) (3)26(1/6) (4)25(2/3)
(5) None of these

73. (38)2 + (63)2 + (?)2 = 6089

(1)26(2) 24 (3) 28 (4) 32
(5) None of these

74. 224+ 314)x(—9)=?

(1)—547 (2) 2602
(3) +547 (4) —2602
(5)None of these

75. (?)2+ 4+ROOT 1521= 1063

(1) 62 (2) 68 (3) 58 (4) 66
(5) None of these

76. At what rate of simple interest per annum can an amount of Rs.1,553.40 be obtained on the
principal amount of Rs.8,630 after 3 years?

(1) 8p.c.p.a. (2) 4p.c.p.a.
(3)5p.c.p.a.(4) 7p.c.p.a.
(5) None of these.

77. What should come in place of the question mark (?) in the following question?
61328597249

(1)124 (2) 122
(3)120 (4) 118
(5) None of these.

78. The average age of a man and his son is 29 years. The ratio of their ages 4 years ago was 21 :
4 respectively. What is the present age of the son ?

(1) 12 years (2) 8 years
(3) 10 years (4) 14 years
(5) None of these.



79. 16% of a number is 216. What is 27% of that number?

(1)274 (2) 142
(3)279 (4) 120
(5) None of these.

80. What approximate value should come in place of the question mark (?)?
root 8789-+ 8+178=?

(1)225(2)142
(3) 190 (4)120
(5) 238

81. The product of two successive numbers is 6972. Which is the greater number?
(1)85(2)83(3)82(4) 86

82. ‘A’ can complete a piece of work in 12 days and ‘B’ can complete the same piece of work in
16 days. In how many days can ‘A’ and ‘B’ together complete the same piece of work?

(1) 5- days (2) 6+ days
(3) 5.. days (4) 6+ days
(5) None of these

83. If an amount of Rs. 1,39,567 is distributed equally amongst 75 people, approximately how
much amount would each person get?

(1) Rs. 1,829 (2) Rs. 1,734
(3) Rs. 1,861 (4) Rs. 1,795
(5) Rs. 1,898

84. If 56a + 56b = 1008, what is the average of a and b?

(1H6(2)9(3)12(4) 18
(5) None of these

85. Manish, Manoj and Mitesh begin to jog around a circular stadium. They complete their
revolutions in 42, 32 and 48 seconds respectively. After how many seconds will they be together
at the starting point?

(1) 672 seconds (2) 721 seconds
(3) 678 seconds (4) 714 seconds
(5) None of these

86. Find the average of the following set of scores.
844,621,736, 142,324,273



(1) 490 (2) 348
(3) 520 (4) 450
(5) None of these.

87. 15% of 25% of *th of a number is 330. What is the number?
(1) 10280 (2) 10660

(3) 10560 (4) 9900

(5) None of these

88. The ratio of length and breadth of a rectangular plot is 71: 61 respectively. The area of the
plot is 17324 sq. metres. What is the perimeter of the plot?

(1) 284 metres (2) 528 metres
(3) 264 metres (4) 614 metres
(5) None of these

89. The cost of 7 desks and 9 chairs is Rs. 7,212. What is the cost of 21 chairs and 27 desks ?

(1) Rs.21,665 (2) Rs.20,976
(3) Rs.21,710

(4) ‘Cannot be determined
(5) None of these

90. What 1s 742 times 124?

(1) 93492 (2) 92018
(3) 93429 (4) 92008
(5) None of these

91. Theareaofcircularplot is 3850 sq. metres. What is the circumference of the plot?
(1) 240 metres (2) 210 metres
(3) 220 metres (4) 260 metres (5) None of these

92. A shopkeeper sells 43kgs. of rice for Rs. 946. What would be the price if he sells 137 kgs. of
rice at the same rate?

(1) Rs.3,014 (2) Rs.3,121

(3) Rs.3,041 (4) Rs.3,112 (5) None of these

93. There are 8 dozen candles kept in a box. If there are 14 such boxes, how many candles
are there in all the boxes together?

(1) 1382 (2) 1334
(3) 1356 (4) 1344
(5) None of these



94. A,B,C,D and E are 5 consecutive odd numbers. The average of the five numbersis 25. What
is the product of C and E?

(1) 675 (2) 725 (3) 575 (4) 621 (5) None of these

95. A car covers a distance from Town I to Town 11 at the speed of 56 kms./hr. and from Town I
to Town I at the speed of 53 krns./hr. What is the average speed of the car?

(1) 55 kms./hr. (2) 55.5 kmsihr. (3) 54 kms./hr. (4) 53.5 kmsJhr. (5) None of these

96. The population of the town is 11200. It increases by 25% in the first year and decreases by
15% in the second year. What is the population of the town at the end of 2 years?

(1) 14000 (2) 11900 (3) 16100 (4) 13500 (5) None of these

97. What amount of compound interest can be obtained on an amount of Rs. 4,800 @6 p.c.p.a at
the end of 2 years.

(1) Rs. 544.96 (2) Rs. 576 (3) Rs. 593.28 (4) Rs. 588
(5) None of these

98. The costof 11 kgs.ofwheatisRs;209.The cost of 8 kgs. of sugar is Rs. 136 and the cost of 14
kgs. of rice is Rs. 294. What is the total cost of38 kgs. of wheat, 43 kgs. of sugar and 46 kgs. of
rice?

(1) Rs.2,419 (2.) Rs.2,525
(3) Rs. 2,396 (4) Rs. 2,441 (5) None of these

99. If x + y =22 and xy = 105. What is the value of(x)2 + (y)2?

(1) 210 (2) 289 (3) 245 (4) Cannot be determined
(5) None of these

100. If(28) is added to the square of a number, the answer so obtained is 1808. What is the
number?

(1)34(2)26(3)36 (4) 32
(5) None of these

ENGLISH LANGUAGE

Directions(101-115): Read the following passage carefully and answer the questions below it.
Certain words/phrases are given in bold to help you locate them while answering some of the
questions.

An equally outstanding feature of the ancient Indian educational system is Adhyatma Vichara.



Because of this very basic character of an eternal spiritual quest, the Indian system of education
is sometimes mistaken to be “otherworlly” whatever be the walk of life or the field of
specialization, be it science or medicine, or the mechanics of war or the art of music or dance,
the performer and the performance are always dedicated to the Divine. “Daivarpura mastu” is the
attitude of every author, of every educator of every householder and of very student. There is no
science without sublimity and no education without enlightenment. A totally materialistic world
is like the paper flower, It may last longer but exists without natural fragrance and an inner
potentially to multiply its message. Unfortunately, our modern educational system is like this
paper flower. That is the reason why an increased emphasis is laid these days on non-formal
education. A large number of books have emerged even from the west like the Peasant Pedagogy
of paulo Fraire. Another title is Deseholing Society. Even in the West, very sensitive and highly
intellectual people have goot fed up with formal education. The paper degrees and diplomas have
formalised the system so much that our whole society is swelling up with the educated
unemployed. A peculiar situation arises there from: all the uneducated some how seem to be
employed all the time, and all the educated seem to be unemployed all the time. That is the
reason why an increasing tendency is noticed on the part of employers to prefer performance to
mere qualifications.

101. Which statement is true according to the passage ?

(1) Today’s education is useless for any employment

(2) Modern education should aim only at getting employed

(3) The only cause of present unemployment problems is today’s education
(4) Present education does not provide people who can give better output
(5) None of these

102. Content of EARLIER paragraph most probably revealed

(1) foreigner contributions to the Indian Education

(2) reasons behind the failures of Indian Education

flaws in the modern Indian Education contribution of ancient Indian to knowledge in different
areas

(5) None of these

103. The writer indicates that

(I) we must abandon formal education

(2) modern education is lifeless

(3) we should switch over to nonformal education
(4) education can not be without entertainment
(5) none of these

104. Author has used the analogy of paper flower to stress the fact that

(1) artificial objects are better than the natural ones
(2) Ancient Indian education was better than the present one



(3) Indian education is better than that given elsewhere
(4) non-formal education is better than the formal one
(5) None of these

105. The title below, that best expresses

(1) Modern Indian Education
(2) Ancient Indian Education
(3) Indian Education: Scenario
(4) Best Education

(5) None of these

106. The author’s attitude towards present Indian education is essentially

(1) realistic

(2) despairing (4) uncritical
(3) distorted

(5) hopeful

107. The writer believes that

(1) ancient educational system was the

(2) there are problems in the present educational system
(3) people should do their work with detachment

(4) ‘Peasant Pedagogy’ is the best book on education
(5) None of these

108. Which of the following is FALSE in the context of the passage ?

(1)Modern educational is artificial

(2) Indian education should borrow western ideas

(3) Unemployment is the fruit of present educational system
(4) Westerners are changing to nonformal education

(5) Indiscriminate spread of education results into deterioration of its quality

109. “The book titled “Deschooling Society” would have discussed

(1) how modern societies will function without education
(2) how pre-historic societies educated themselves without school
(3) how education can take place outside the schools

(4) how present education has created problems rather than giving solutions

(5) None of these

Directions(110-112) : Choose the word which is most nearly the SAME in meaning as the word

given in bold as used in the passage.



110. ENLIGHTENMENT

(D) Lightness (2) Insight
(3) Twilight (4) Blinding
(5) Proficiency

111. SUBLIMITY

(1) Despression (2) Reduction
(3) Subversion (4) Precipitation
(5) Upheaval

112. DEDICATED

(I) Devoted (2) Loyal (3) Submissive
(4) Sincere (5) Conscious

Directions (113-115) : Choose the word which is most OPPOSITE in meaning as the word given
in bold as used in the passage.

113. FRAGRANCE

(1) Aroma (2) Perfume
(3) Smell (4) Flavour
(5) Stink

114. PECULIAR

(I) Characteristic
(2) Special

(3) Specific

(4) Distinct

(5) Universal

115. ETERNAL

(1) Momentary (2) Continual
(3) Everlasting (4) Endless
(5) Ceaseless

Directions(116-125)Read each sentence to find out whether there is only grammatical error in
it. The error any, will be in one part of the sentence. The number of that part is the answer. If
there is no error, the answer is (5). (ignore the errors of punctuation, If any)

116. The forest service (1)! announced that (2)! the forest fire (3)! would destroy our town
(4)/No error (5)



117. I respectedly (1)! request (2)! your consideration (3)! of my application (4)/No error (5)

118. Although the truck (1)/was without brakes (2)/the driver skillfully (3)! guided it down
through hill (4)/No error (5)

119. The famous orator, President Roosevelt (I )/ was in power (2)/longest than (3)/anybody else
(4)/No error (5)

120. He is (1)! interested but (2)/ suspicious of (3)/ the new cashier (4)/No error (5)

121. Does books for children (1)! use shorter sentences (2)/than those (3)/ for adults (4)! No
error (5)

122. A play wright must characterise (1)/mainly through action and speech (2)! but a novelist
may use (3)! a great number of technique (4)/No error (5)

123. The pieces of glass windows (I) were spread for miles (2)! but it apparently (3)! killed no
one (4)/No error (5)

124. Two drunks (1)/were singing loud (2)/near the hospital (3)! and a policeman was following
them (4)/No error (5)

125. 1 like Faulkner(l)/as well as (2)! even best (3)/then I like Steinbeck (4)/No error (5)

Directions(1 26-130): In each sentence below, four words which one numbered (1), (2), (3), and
(4) have been printed in bold type, one of which may be either inappropriate in the context of the
sentence or wrongly spelt. The number of that word is the answer. If all the four words are
appropriate and also correctly, spelt, mark (5) i.e., ‘All correct’ as the answer:

126. There was several simple

(1 (2)

explanations for the defeat

3@
All Correct

)

127. The audience are applauding vigorously All correct

(D@ B @G

128. About one-third of the questionnaires were not returned, and

(@)

one-seventh of the replies were unusable All correct

3) @ O)



129. The period of history that
(D

fascinates me more is the
(2)(3)

middle age. All correct.

4) ()

130. After you have seen the Taj Mahal,
I

1(1(3 other architectural truimph is

(2)

likely to impress one

All correct

)

)«

Directions (131-140): Pick out the most effective word from the given words to fill in the blank
to make the sentence meaningfully complete.

131. Eating apples has been called way to avoid doctors bills.

(1) a tricky

(2) a surplus

(3) an expensive (4) severe
(5) provided

132. His answer usually were whatever came his head first.

(D) into

(3) out

(2) through (4) of
(5) by

133. Going to the temple on every saturday was Directions (141-145): In each of the follow-
the in our family. ing questions, six words are given denoted by (A),

(1) method (2) function (B), (C), (D), (E) and(F). By using the six words each

(3) custom (4) goal only once you have to frame a meaningful and gram maticall correct
sentence. The correct order of the

(5) ceremony words is your answer. Choose from the five alterna 134 A of black birds nest under
that bridge. tives the one having the correct order of the words

(1) flock (2) gang and mark it as your answer on the answer sheet.

(3) group (4) herd 141. (A) WORK (B) OTHER

(5) team (C) THERE (D) TODAY

135. The farmer steered his tractor, right into the (E) NO (F) IS

haypile and his luck (1) DAFEBC (2) CFEBAD

(1) admired (2) cursed (3) CAFEBD (4) EAFCBD




(3) wondered (4) congratulated (5) EBFCAD

(5) blessed 142 (A) SOME (B) PERHAPS

136. Beethoven is the composer of all time (C) WERE (D) OF

(1) great (2) only (F) THEM (F) INVITED

(3) greater (4) greatest (1) BCAEDF (2) BACEDF

(5) popular (3) BAFDCE (4) BEDACF

137. Although there were enough instruments to (5) BADECF

go round, their quality was

143. (A) NAME (B) ASKED

(I) best (2) poor

(C) THEY (D) ME

(3) tolerable (4) acceptable

(E) MY (F) CORRECT

(5) appreciable

(1) CBDFAE (2) EABDFC

138. If I the boss here, I would do things

differently (3) FCBEAD (4) DBCEAF

(1) am (2) is (5) None of these

(3) were (4) to be 144. (A) OF (B) BEAST

(5) have (C) DUNKEY (D) A (B) IS

139. A cup of tea in late afternoon enabled him to (F) BURDEN

servive until dinner was (I) CEDBAF (2) FABDEC

(I) packed (2) distributed (3) CADEFB (4) BDCAFE

(3) made (4) remarkable (5) None of these *

(5) provided 145. (A) RAMESH (B) TO

140. The brown puppies are the cuttest the (C) HUMAN (D) SAID

lot (E) IS (F) ERR

(1) for (2) in (1) AECDBF (2) ADBFEC

(3) among (4) about (3) ECBDAF (4) FADEBC

(5) of (5) None of these
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Directions (146-150) In the following paragraph there are blanks, each of which has been
numbered. These numbers are printed below the passage and against each five words are
suggested, one of which Tits the blank appropriately. Find the word.

India is a country of food 146. We consider food indiscretions and indulgences in forbidden
foods as causes of many 147 human maladies. While there can be no two opinions about the 148
of cover indulgence in food. It is rather 149 to accept the food fads of our countrymen. Most of
these have been 150 available to use by one ancient medical system.

146.

(5) production

147. (1) with (2)

(3) critical (4)

(5) grate

148. (1) evils (2)

(3) outcomes (4)



(5) fruit

149. (1) unnecessary
(2) hardly

(3) difficult

(4) unreasonable

(5) reasonable

150. (1) give (2) make
(3) paid (4) made
(5) given

151. Former reserve Bank of India (RBI) Deputy Governor S.S.Trapore has
opposed the government’s attempt to
take direct control and ownership of the countries largest Bank, —

152. Which city has become World’s BPO capital, according to a recent survey?
(1) Bangalore (2) Hyderabad
(3) Mumbeai (4) Delhi

153. Who has been awarded “White Ribbon
Man of the year award 2006’ to support the
cause of Women ?

(I) Gorge Bush

(2) Pervez Musharraf

(3) Brad Pitt

(4) George Clooney

154. The 19th Common Wealth Games will be
held in 20 10 in

(1) Jaipur (2) Kolkata

(3) Delhi (4) Mumbai

155. Mr.B. Ramalinga Raju who is the newly appointed Chairman of NASSCOM is associated
with which of the following companies?

(1) Tata Consultancy Services

(2) Wipro Computers

(3) Infosys

(4) Satyam Computers Services

156. Where is National Multi Comodity
Exchange of India?

(1) Mumbai (2) Jaipur

(3) Hyderabad (4) Ahmedabad



157. ThOe most powerful type of computer amongst the following is
(1) Supermicro

(2) Micro computer

(3) Super computer

(4) Megaframe

158. Nobel Prize for peace-2006 has been awarded to Mohammad Yunus and
(1) Grameen Bank

(2) World Bank

(3) Urban Bank

(1) habit (3) phobia

(2) maniac

(4) therapy

by more

effects result

(1) S.B.I

(2) Pubjab National Bank
(3) Allahabad Bank

(4) Bank of Baroda

(4) NABARD

159. What is the name of the new sport channel, started by Nimbus Group?
(1) Play (2) Neo Sports
(3) Go Sports (4) Sports Today

160. Which of the following insurance companies has started first insurance scheme for diabetic
patients ?

(1) Bajaj Allianz

(2) ICICI Prudential

(3) LIC-India

(4) National Insurance Corporation

161. Which bank in India became the first bank
to open branch in China

(1) IDBIBank

(2) HDFC Bank

(3) State Bank of India

(4) Punjab National Bank

162. Which state government has banned the sale and manufacture of Cocacola and Pepsi ?

(1) Bihar (2) Uttar Pradesh
(3) Kerala (4) Assam

163. Which of the following banks has launched ‘Samanya Credit Card’ to rural and semi urban
house-holds ?



(1) SBI (2) UBI
(3) UTI (4) Bank of India

164. Which of the following was the largest software exporter during the fiscal 2005-06?

(1) Tata Consultancy Services
(2) Wipro

(3) Infosys Technology

(4) Satyam Computer Services

165. The largest public sector Commerical Bank of India is the

(1) Bank of India

(2) Reserve Bank of India
(3) State Bank of India
(4) Union Bank of India

166. Who wins the Khel Ratna Awards, 20067

(1) Pankaj Adwani
(2) Anju Jam

(3) Ramesh Kumar
(4) Aparna Popat

167. Who wins the Miss Universe 2006 awards?

(1) Zuleyka Rivera
(2) Kurara Chibana
(3) Lauriane Gillieron
(4) Lia Andrea Ramos

168. Dr. M.S. Swaminathan was awarded the ‘Commander ofAgriculture Merit’ by

(1) France (2) England
(3) U.S.A. (4) Japan

169. Which of the fallowing is IBM’s microcomputer?

(1) MAC (2) Microcomp
(3) Workstation (4) Macintosh

170. Which of the following life insurance companies has launched unit-linked pension plan
called “Market Plus” ?

() Life Insurance Corporation of India
(2) ICICI Prudential



(3) Bajaj Allianz
(4) HDFC Life

171. Who among the following has been selected for the 14th Rajtv Gandhi National
Sadbhavana Award 20067

(1) Nirmala Deshpande
(2) PurnimaAdvani
(3) M.S. Swaminathan
(4) Cedric Prakash

172. India - China would celebrate 2007 as the
(1) Friendship year

(2) Tourism year

(3) Co-operation year

(4) None of these

173. The film that won the Best Film award at 37th International Film Festival of India (IFFI) is

(I) The older barber

(2) Ashort Life

(3) Nirontor (Forever Flows)
(4) Sonam

174. In India, ‘yellow revolution’ is associated with

(1) Production of paddy
(2) Production of oilseeds
(3) Production of tea

(4) Production of flower

175. Who is the richest resident Indian in the latest estimates of Economic Magazine ‘Forbes’?

(1) AzimPremji (2) Mukesh Ambari
(3) Anil Ambani (4) N.R. Nrain Murty

176. A computer program consists of

(1) a computer flowchart

(2) algorithms

(3) algorithms written in computer’s language

(4) discrete logical steps

177. Most of the errors blamed on computers are actually due to



(1) Programming errors
(2) Hardware fatigue

(3) Defects in floppy disks
(4) Data entry errors

178. 1FPSisa:

(1) Financial planning package

(2) Electronic spreadsheet

(3) Graphic package

(4) Data base management package

179. Internet is governed by

(1) I&B

(2) IETF

(3) InterNiC

(4) None of these

180. The server on the Internet is also known as a

(1) Repeater (2) Host
(3) Gateway (4) None of these

181. Host differs from desktop computers in that they can handle

(1) Multiple connections
(2) Single connections
(3) No connection

(4) Allof the above

182. Which one is not the operating system?

(I) UNIX (2) MS-DOS
(3) XENIX (4) Oracle

183. The term Booting refers to
(1) turn ‘off” the computer

(2) loading the operating system
(3) turn ‘ON’ the computer

(4) None of these

184. The ROM stands for



(1) Read only Memory
(2) Read only Menu
(3) Ride on Mouse

(4) Read off Memory

185. Disk Partitioning can be done by

(1) FDISKcommand
(2) Format command

(3) Partition command
(4) None of these

186. The DOS command that used to check disk surface for error is

(1) CI-IK DISK (2) SCAN DISK
(3) F DISK (4) C DISK

187. In DOS primary name and extension name are separated by

(1) Spot (2) Dot
(3) Line (4) Carriage return

188. Database is collection of information

(1) inter-related (2) extra
(3) ordinary (4) different

189. Virus detection and control system are:

(I) Protection system
(2) Vaccine programme
(3) Both(l)and(2)

(4) None of the above

190. VIRUS are classified as

(1) Boot infectors

(2) System infectors

(3) General .EXE and .Com Infectors

(4) All of the above

191. Which Bank has announced the sale of its UpperT&er II bonds?

(1) State Bank of Bikaner and Jaipur
(2) UTIBank



(3) Bank of Rajasthan
(4) Allahabad Bank

192. Who is the Chief Economist ofADB (Asian Development Bank) of India?

(1) Mannav Rao
(2) Narhari Rao
(3) Deshmukh Prasad

193. When the SB! Act was passed ?

(1) 1951 (2) 1953
(3) 1956 (4) 1959

194. GDP measures the final output of

(1) Goods only

(2) Services only

(3) Goods and services
(4) None

195. VAT is levied on

(1) Goods

(2) Services

(3) Goods and Services
(4) Goods and traders

196. Which of the following companies is a multinaitonal

(I) Generalmotors
(2) Hindustan motors
(3) TISCO

(4) None

197. ICIClisa

(1) Privately Owned Institution

(2) Government Owned Insitution

(3) Semi-Government Institution

(4) None

198. When was Imperial Bank of India converted into ‘SB!’?

(1) 1953
(3) 1955



199. Chit funds are

(1) Organsed money markets
(2) Unorganised money markets
(3) Collateral markets

(4) None

200. Bank Rate means

(1) Lending rate

(2) Borrowing rate

(3) Lending and borrowing rates
(4) None

(2) 1954

(4) None

(4) T. Jones
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